Parts List .«..x:

Epap Uk

Model: BKZOO(Y1 4) N—YYZXI—F 523862
BK200L
BK200G



HaTRODITERIZDINT

1. BHOTEXDEIE

wiEZ (BX) - BRES - BmLH - MEFHEZSL,

INTEATAE (LRI R D liE FRE S RBZEL,

(I d THILMES M Z2SEAESLY,
AERRITEBELEZIDEHYET,
ABERIIBERDAFEKERTIIELHYFET,

Fig. DFRRIZDUNT

AFRAMR=DIZFig XX SRERXRTLTHYET, ZD XX [FAFARMN—
ELEORHLEBESERLET,

o 0 & 0N

B R
7, /\o_:)

1.BK200 ZR Ao 1~2
p =] 000 N 3~4
3. BK200G ZK K oo eeeeeeee e seeeene e seeeeeee e sneee 5~6
4. T (DZo95—R, D)UF . A e 7 ~ 10
s AV QY F= B 1V 5 Sy 3 R 11 ~ 12
6. IOV (Fx¥TLA, IT7V)—F. BEEUY) e 13 ~ 14
A =TT 15 ~ 16






1. BK200 (Y14)
K K




A:BK200 B:BK200L C:BK200G

RHES | HAES 08 & _ f jﬁ Eif m o=
1-1 364357 | BK200 1 Y14
1-2 226546 | TUNVY 1
1-3 226544 | h'4hUvbs 1
1-4 215532 | hv4a4=%") 1
1-5 054691 | WUhT9 9347 1 6 74914
1-6 089738 | 6 h4F b 1 M5x15
1-7 215418 | NN MN)YERTS 9357 1 8 794
1-8 092561 | 6 h%f Lk (+)SW 6 M5x25
1-9 225835 | ¥ Yh—-R934T 1 10 ~ 15 744
1-10 225897 | 6 hYE Wb (HW 1 M6x8
1-11 092550 | 6 A%& ILh (+)SW 1 M5x25-7T
1-12 225891 | NEJRR A 1
1-13 225892 | NE/K'AB 1
1-14 225893 | HInAYH AYEFTUb 1 M8 t4')
1-15 225896 | 6 hYF Wb (+) 1 M5x10
1-16 220549 | F194v-4 1
1-17 235148 | #—L7°L—b 1 BIG-M BK200
1-18 235791 | nUNIL A TRA 1
1-19 235792 | nUNIL B ThA 1
1-20 235778 | MJA'LIN—434T (16) 1
1-21 236111 | 3A°) 1 17 - 7439
1-22 235748 | AAYMLIAY 1 810L I/0 75.5
1-23 220533 | hahh N UM h34T 1
1-24 222821 | V' AVAVAN-)34T 1 25 791
1-25 092561 | 6 h%& Wb (+)SW 2 M5x25
1-26 224624 | ¥97)— 9 BIG-M 1
1-27 231654 | n\)3—4 1 ECO




2. BK200L

K




A:BK200 B:BK200L C:BK200G

RHES | HAES 08 & f jﬁ Eif m o=

2-1 364370 | BK200L 1

2-2 226546 | TUNIVY 1

2-3 226544 | hAhUTRA 1

2-4 211736 | Hv494=%") B 1

2-5 211737 | nNUN 2

2-6 054691 | YhT9 9347 1 77914

2-7 089738 | 6 hYk Lk 1 M5x15

2-8 235783 | MJA'LIN-434T (24) 1

2-9 235751 | A@YMLI{Y 1 365L1/0 735

2-10 213548 | IWF —bF1-7" 1 3t 10 200L
-11 225835 | ¥ Yh—-RH34T 1 12 ~ 17744
-12 225897 | 6 hHYK Lk (HW 1 M6x8

2-13 092550 | 6 %&b (+)SW 1 M5x25-7T

2-14 225891 | NEJRRA 1

2-15 225892 | NE/WAB 1

2-16 225893 | HIN YN 2YEFUS 1 M8 t4’Y

2-17 225896 | 6 hHYH Lk (+) 1 M5x10

2-18 220549 | F194v-) 1

2-19 236171 | %—L7L—F 1 BIG-M BK200L

2-20 231654 | nJ3—4 1 ECO

2-21 214224 | W=7"nUNWH34T 1 22 ~ 24 791

2-22 213171 | AN LMYET L 1

2-23 222142 | +A2%Y (H)W 4 M5x28

2-24 081027 | 6 h4FYh 4 M5

2-25 220533 | hahh WU h34T 1

2-26 222821 | V' AYAVAN =934T 1 27 794

2-27 092561 | 6 %&b (+)SW 2 M5x25

2-28 224624 | ¥97°)— 9 BIG-M 1

2-29 236111 | 3A°)L 1 a9 - 74349




3. BK200G
x &




A:BK200 B:BK200L C:BK200G

RHES | BaES 08 & f jﬁ Eif m o=

3-1 364371 | BK200G 1

3-2 226546 | TUNTIVY 1

3-3 226544 | hAhUTRA 1

3-4 211736 | Hv494=%") B 1

3-5 211737 | nNUN 2

3-6 054691 | YhT9 9347 1 7794

3-7 089738 | 6 h4F b 1 M5x15

3-8 235783 | MJBLIN=934T (24) 1

3-9 236111 | A7) 1 179 - 7439

3-10 235751 | AAYMLIAY 1 365L1/0 73.5
-11 213548 | Iy —bF1-7" 1 3t" 10 200L
-12 211735 | HwU94=% A 1

3-13 211737 | WUV 2

3-14 225835 | ¥ Yh—-RH34T 1 15 ~ 20 791

3-15 225897 | 6 YKLk (HW 1 M6x8

3-16 092550 | 6 hHiE Ik (+)SW 1 M5x25-7T

3-17 225891 | NEJIK'A A 1

3-18 225892 | NEJFAB 1

3-19 225893 | HIN YN 2YEFYS 1 M8 t4’

3-20 225896 | 6 hHYH Lk (+) 1 M5x10

3-21 220549 | F194v-) 1

3-22 236175 | #—L7°L—b 1 BIG-M BK200G

3-23 231654 | n\)I-4 1 ECO

3-24 220533 | hahh N U h34T 1

3-25 222821 | Y AYAVAN-H34T 1 26 79 L

3-26 092561 | 6 hHE L (+)SW 2 M5x25

3-27 224624 | ¥97)— 9 BIG-M 1




4. BK200, BK200L, BK200G I >y
DS —R, DYUE . aAdI)L

13

LGAUN b

>-— /
S \
& ) e \
\ C
0 ’ / ~
N Z , W : \ . ©
— e /( N
el ’
~— @ \ , 9
K 7\ ; (sp] W
- /
\

Lol

4

<
i (ot
3 < Y3
<

63
LGAYNIL

LGAYN I




A:BK200 B:BK200L C:BK200G

#
RHES | HAES 08 & B % |rgp m o=
A B| C
41 859476 | IVY'Y 1 EE201/14
4-1 859519 | 1YYV 1 1 EE201/15
4-2 289667 | YUU¥ 1 1 1
4-3 289643 | H"A4Yb 1 1 1 T0.5
4-4 267290 | A4')1 2 2 2 M5x20
4-5 272744 | {914 1 1 1
4-6 267049 | H'AHYb 1 1 1
4-7 269826 | FAI%Y (+)WSW 2 2 2 M5x25WSW #94
4-8 289657 | ¥737tV77) 1 1 1
4-9 266402 | 241 2 2 2 M5x55
4-10 273262 | HAHYE 1 1 1
4-11 273519 | 7U4hin - 1 1 1
4-12 269827 | FAI%Y (+)WSW 1 1 1 M5X16
4- 272342 | M7 hin - 1 1 1
41 289774 | A4a 1 1 1
4-15 261878 | +Yb 1 1 1
4-16 280144 | AYE VRV (+) 1 1 1 4x16
4-17 273674 | 930902 1 1 1
4-18 280488 | ATIYUY 2 2 2 PPL 6001
4-19 261492 | #4LY=lb 1 1 1
4-20 261386 | A#4LY—) 1 1 1
4-21 055185 | C h'4hAD 1 1 1 H28
4-22 261612 | 6 h97 Y%K Wb WSW 3 3 3 M5x30
4-23 289671 | E'AbY 1 1 1
4-24 261158 | BRI 1 1 1
4-25 261036 | E'ARUEY 1 1 1
4-26 288520 | =—NIATYLY 1 1 1 8E-KV8X11X11.8
4-27 261576 | #—4)v7" 2 2 2
4-28 267193 | 9399%7b3077) -+ 1 1 1
4-29 269168 | 9739F7tU77) 1 1 1 30,31 794
4-30 269169 | 9739YFv1 2 2 2
4-31 269173 | A7y 1 1 1
4-32 269647 | 979FH Wb 2 2 2
4-33 269175 | 799+ 2 2 2 6.1X15X1.6
4-34 261777 | 9I-7"79v% 2 2 2
4-35 286527 | 7T7VAN-TtY7) C 1 36 ~ 38 794
4-35 286528 | 77UAN-TtU7") C 1 1 36 ~ 38 794
4-36 280366 | 77VAN - 1 YN -
4-36 280506 | 77vhn— 1 1
4-37 280314 | 979FK74L3077)—b 1 1 1
4-38 014210 | C H'4hA7 1 1 1 S10
4-39 269831 | A 2%y (+)WSW 4 4 4 M5x20WSW
4-40 269991 | 9v3y 1 1 1
4-41 280477 | A4Ya 1 1 1 M5x28WSW
4-42 269423 | YhH Yk 1 1 1 M5




4. BK200, BK200L, BK200G I >y
DS —R, DYUE . aAdI)L

13

LGAUN b

>-— /
S \
& ) e \
\ C
0 ’ / ~
N Z , W : \ . ©
— e /( N
el ’
~— @ \ , 9
K 7\ ; (sp] W
- /
\

Lol

4

<
i (ot
3 < Y3
<

63
LGAYNIL

LGAYN I




A:BK200 B:BK200L C:BK200G

RHES | BaES 08 & _ f jﬁ Eif m o=
4-43 282403 | 4YE VY (+) 1 1 1 M4x14
4-44 272066 | ¥5 xh7EVTY) 1 1 1 45 ~ 51 794
4-45 261356 | A—4 1 1 1
4-46 272067 | 49°=9%3VA4NT Y77 1 1 1 47 ~ 51 794
4-47 267401 | 24 1 1 1
4-48 272068 | 1-N7tY7Y 1 1 1 49 ~ 51 791
4-49 272069 | 21—k 1 1 1
4-50 261074 | 7°39°%vv7’ 1 1 1
4-51 261075 | 7V4 1 1 1
4-52 261076 | Nnu%— 1 1 1
4-53 261417 | 79" 0 %9+ Vk 1 1 1 M8
4-54 280381 | AA—# 2 2 2
4-55 261256 | 6 h97FYFH Lk WSW 2 2 2 M4x25
4-56 286739 | AN-=47'34 1 1 1 CJ6Y
4-57 269983 | AN ALVFIAVT -t 1
4-58 267492 | -} 1 1
4-59 282880 | Y-k 1 1
4-60 280670 | #'OAYk 1 1
4-61 264588 | 4507 1 1
4-62 269705 | A 1 1 1 SV VR ELE)
4-63 274191 | A1 1 1 1 A9AVF194

-10 -




IO

5. BK200, BK200L, BK200G

JaAJ)LRA—A

-1 -



A:BK200 B:BK200L C:BK200G

RHES | BaES 08 & _ f jﬁ Eif m o=
51 288684 | Ya{R4—4T7+tY7 1 1 1 2~ 10794
5-2 288685 | A4—47tV7") 1 1 1 3~9794
5-3 288967 | Y-l 1 1 1
5-4 288968 | ANATLAT YUY 1 1 1
5-5 262922 | £YhRYY)2 1 1 1
5-6 288969 | O—77tY7"Y 1 1 1 7~ 9794
5-7 288970 | A4—40-7° 1 1 1
5-8 261725 | A4—-%)7 1 1 1
5-9 283511 | A=7"AkYs 1 1 1
5-10 288971 | R4—47-T7+tv7") 1 1 1

-11 269833 | TAI%Y (+)WSW 1 1 1 M4x16WSW #94
-12 280489 | FA1%Y (+)WSW 2 2 2 M4x20
5-13 272344 | A7) 1 1 1 BK200

-12 -




v
9

6. BK200, BK200L, BK200G T ¥
FrILAE, 7)) —F . BHEY

-13-



A:BK200 B:BK200L C:BK200G

RHES | HAES 08 & _ f jﬁ Eif m o=
6-1 289885 | ¥Y7'LAa7tU77 1 1 1 2 ~ 15794
6-2 274472 | KYIKT4 1 1 1
6-3 262991 | N=Y'K'F( 1 1 1
6-4 262992 | ®y7hin - 1 1 1
6-5 261874 | 7°94% 1 1 1
6-6 283905 | #4¥735L 1 1 1
6-7 262993 | N'AFYb 1 1 1
6-8 262994 | 34¥77L 1 1 1
6-9 282576 | h AU 1 1 1
6-10 285030 | ¥'IYh 1 1 1

-11 261871 | O vy’ 1 1 1
-12 261876 | YU’ 1 1 1
6-13 261658 | A4A') 1 1 1
6-14 264682 | 241 2 2 2
6-15 262996 | A41 4 4 4
6-16 261864 | h Aorvb 1 1 1
6-17 264691 | O vy 1 1 1
6-18 266420 | 9)-F17tv7 1 1 1 19 ~ 21 754
6-19 264709 | H)—Fhin'— 1 1 1
6-20 266433 | H—A7tU7") 1 1 1
6-21 264695 | ILAvb 1 1 1
6-22 269834 | FA1%Y (+)WSW 2 2 2 M5x60WSW
6-23 273515 | 4v974v7" 1 1 1 24 ~ 34794
6-24 273516 | 71-I4v% 1 1 1
6-25 281565 | AU9%%97 74077 1 1 1 26 741
6-26 269377 | Y%y 1 1 1
6-27 261696 | 7Y)—4)347 1 1 1
6-28 265752 | *V)3AYNATTEYTY 1 1 1 29 ~ 34794
6-29 264031 | NA7934T 1 1 1 30 ~ 32 794
6-30 261115 | 9'O0AYb 1 1 1
6-31 261690 | #YYIINA7’ 1 1 1 160L
6-32 263038 | A—n'70-N47° 1 1 1
6-33 264653 | 72447tV 7) 1 1 1
6-34 261117 | 9Yv7° 1 1 1
6-35 269828 | FTAIRY (HW 2 2 2 M5x16W
6-36 281208 | FAI3Y (W)W 1 1 1 M5x16W 494
6-37 281007 | 3A°)L 1 1 1 FA-H 4 _~M

-14 -




7. BK200, BK200L, BK200G
/&

-15-



A:BK200 B:BK200L C:BK200G

BHES HaES 08 2 6 _ fEl jﬁ it B o=
7-1 221460 | H3 A% 1 1 1
7-2 220534 | hnhn- 1 1 1
7-3 210418 | IVERYIAANT 1 1 1
7-4 219431 | 6 hYRIANT 1 1 1 ZAUNN 3
7-5 022865 | YADYFANT 1 1 1 8x10
7-6 235789 | MJ7Yh4tYiY3 1 1 1 BK203/263R ih

-16 -




22 LU EThH
B EFRHERED
Ay FE—- bt s2—: EE 0120-898-114
ZFIFIEHRY: AN9:00~PN5:00(+. B.#1H %% <)

Printed in japan 2014-08.J

EHENEETY



